Problem of the Week
September 8, 2015
Due: September 11, 2015
Zachary travels on a journey of 50 miles. He spends half of his time riding on his horse and half of the time walking. When he rides his horse, he goes 9 miles every hour. When he walks, he goes 3 1/2 miles every hour. How long does it take him to complete the journey?

In order to receive credit for the POW, you must show your work, including thinking tracks to demonstrate how you went about solving the problem.  We will do this together this week on another POW so that you fully understand the expectation.
